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ŋŨūŬŚŜŢŬşťŶ: Ť.Ŭ.ŧ., ŞŨŰşŧŬ ŋ.ņ. ŌŭťŢŝťŨŜŢű. 

 

ŊşŰşŧšşŧŬ: ŋŬŚŪŲŢţ ũŪşũŨŞŚŜŚŬşťŶ ŤŚŮşŞŪŵ ūşťŶūŤŨůŨšŹţūŬŜşŧŧŵů ŦŚŲŢŧ 

ŇŨŜŨūŢśŢŪūŤŨŝŨ Ľĺō ŅŭŰŢŤ ļ.Ľ. 

 

ņşŬŨŞŢűşūŤŢş ŭŤŚšŚŧŢŹ ŞťŹ ŜŵũŨťŧşŧŢŹ ŤŨŧŬŪŨťŶŧŵů ŪŚśŨŬ ũŨ ŞŢūŰŢũťŢŧş 

«ńŨŦũťşŤūŧŨş ŢūũŨťŶšŨŜŚŧŢş ŜŨŞŧŵů ŪşūŭŪūŨŜ» / ŋŨūŬŚŜŢŬşťŶ: Ť.Ŭ.ŧ., ŞŨŰşŧŬ 

ŋ.ņ. ŌŭťŢŝťŨŜŢű; ŇŨŜŨūŢśŢŪūŤŢţ Ľĺō, ŇŨŜŨūŢśŢŪūŤ 2022,-39 ū.         

ŐşťŶŸ ŤŨŧŬŪŨťŶŧŨţ ŪŚśŨŬŵ ŹŜťŹşŬūŹ šŚŤŪşũťşŧŢş ŬşŨŪşŬŢűşūŤŢů šŧŚŧŢţ Ţ 

ũŪŚŤŬŢűşūŤŢů ŧŚŜŵŤŨŜ ūŚŦŨūŬŨŹŬşťŶŧŨŝŨ ŪşŲşŧŢŹ šŚŞŚű ũŨ ńŨŦũťşŤūŧŨş 

ŢūũŨťŶšŨŜŚŧŢş ŜŨŞŧŵů ŪşūŭŪūŨŜ; ŭŦşŧŢŹ ūŚŦŨūŬŨŹŬşťŶŧŨ ũŨťŶšŨŜŚŬŶūŹ 

ŧŚŭűŧŨţ Ţ ūũŪŚŜŨűŧŨţ ťŢŬşŪŚŬŭŪŨţ. 

         ŉŪŢ ŜŵũŨťŧşŧŢŢ ŪŚśŨŬ ūŬŭŞşŧŬ ŞŨťŠşŧ ũŪŨŹŜŢŬŶ ŬŜŨŪűşūŤŭŸ 

ŢŧŢŰŢŚŬŢŜŭ Ŝ ŪşŲşŧŢŢ ŞŚŧŧŨţ ũŪŨśťşŦŵ Ţ ŭŦşŬŶ ŨśŨūŧŨŜŚŬŶ ŜŵŜŨŞŵ Ţ 

ũŪşŞťŨŠşŧŢŹ. 

         ņşŬŨŞŢűşūŤŢş ŭŤŚšŚŧŢŹ ũŪşŞŧŚšŧŚűşŧŵ ŞťŹ ūŬŭŞşŧŬŨŜ ŚŝŪŨŧŨŦŢűşūŤŨŝŨ 

ŮŚŤŭťŶŬşŬŚ ũŨ ŧŚũŪŚŜťşŧŢŸ ũŨŞŝŨŬŨŜŤŢ 20.03.02 ŉŪŢŪŨŞŨŨśŭūŬŪŨţūŬŜŨ Ţ 

ŜŨŞŨũŨťŶšŨŜŚŧŢş. 

 ōŬŜşŪŠŞşŧŵ ŭűşśŧŨ-ŦşŬŨŞŢűşūŤŢŦ ūŨŜşŬŨŦ ŚŝŪŨŧŨŦŢűşūŤŨŝŨ 

ŮŚŤŭťŶŬşŬŚ (ũŪŨŬŨŤŨť ŨŬ  30.09. 2022 ŝ. ƽ 2) 
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ļŜşŞşŧŢş 

 

           ńŨŧŬŪŨťŶŧŚŹ ŪŚśŨŬŚ ƥ űŚūŬŶ ŭűşśŧŨŝŨ ũŪŨŰşūūŚ, Ŝ ŬşűşŧŢş ŤŨŬŨŪŨŝŨ 

ŭűŚųŢţūŹ ŜŵŪŚśŚŬŵŜŚşŬ ŧŚŜŵŤŢ ũŪŨşŤŬŢŪŨŜŚŧŢŹ Ŝ ŨśťŚūŬŢ ńŨŦũťşŤūŧŨŝŨ 

ŢūũŨťŶšŨŜŚŧŢŹ ŜŨŞŧŵů ŪşūŭŪūŨŜ. 

 ļ ŤŨŧŬŪŨťŶŧŨţ ŪŚśŨŬş ũŨ ńŨŦũťşŤūŧŨŦŭ ŢūũŨťŶšŨŜŚŧŢŸ ŜŨŞŧŵů 

ŪşūŭŪūŨŜ ŪşŲŚşŬūŹ ŤŨŦũťşŤū ŜšŚŢŦŨūŜŹšŚŧŧŵů ŜŨũŪŨūŨŜ, űŬŨ ũŨšŜŨťŹşŬ 

ūŬŭŞşŧŬŚŦ ťŭűŲş ŭūŜŨŢŬŶ ŬŪŭŞŧŵş Ţ ŜŚŠŧŵş ŪŚšŞşťŵ ŭűşśŧŨţ ũŪŨŝŪŚŦŦŵ.  

 ŊŚśŨŬŚ ŪŚūŲŢŪŹşŬ ŬşůŧŢűşūŤŢţ ŤŪŭŝŨšŨŪ ŭűŚųŢůūŹ, ũŪŢŭűŚşŬ Ţů 

ŬŜŨŪűşūŤŢ ŦŵūťŢŬŶ, ŞşťŚŬŶ ŬşůŧŢŤŨ-ŷŤŨŧŨŦŢűşūŤŢş ūŪŚŜŧşŧŢŹ, ūŚ-

ŦŨūŬŨŹŬşťŶŧŨ ŪşŲŚŬŶ ŨŪŝŚŧŢšŚŰŢŨŧŧŵş, ŬşůŧŢűşūŤŢş Ţ ŷŤŨŧŨŦŢűşūŤŢş ŜŨ-

ũŪŨūŵ, ũŨťŶšŨŜŚŬŶūŹ ŭűşśŧŨţ Ţ ūũŪŚŜŨűŧŨţ ťŢŬşŪŚŬŭŪŨţ.  

  

ŋŨūŬŚŜ Ţ ŨŮŨŪŦťşŧŢş ŤŨŧŬŪŨťŶŧŨţ ŪŚśŨŬŵ 

 

           ńŨŧŬŪŨťŶŧŚŹ ŪŚśŨŬŚ ũŨ ńŨŦũťşŤūŧŨŦŭ ŢūũŨťŶšŨŜŚŧŢŸ ŜŨŞŧŵů 

ŪşūŭŪūŨŜ ūŨūŬŨŢŬ Ţš ũŨŹūŧŢŬşťŶŧŨţ šŚũŢūŤŢ Ţ ŝŪŚŮŢűşūŤŨŝŨ ŦŚŬşŪŢŚťŚ. ļ 

ūŨūŬŚŜ ũŨŹūŧŢŬşťŶŧŨţ šŚũŢūŤŢ ŜůŨŞŹŬ: ŬŢŬŭťŶŧŵţ ťŢūŬ; šŚŞŚŧŢş; ŨŝťŚŜťşŧŢş, 

ŬşŤūŬŨŜŚŹ Ţ ŪŚūűşŬŧŚŹ űŚūŬŶ; ūũŢūŨŤ ŢūũŨťŶšŨŜŚŧŧŨţ ťŢŬşŪŚŬŭŪŵ; ňśŴşŦ 

ũŨŹūŧŢŬşťŶŧŨţ šŚũŢūŤŢ ūŨūŬŚŜťŹşŬ 11-20 ūŬŪŚŧŢŰ ũşűŚŬŧŨŝŨ ŬşŤūŬŚ. ňŧŚ 

ŞŨťŠŧŚ śŵŬŶ ŧŚũŢūŚŧŚ ŬşůŧŢűşūŤŢ ŝŪŚŦŨŬŧŵŦ ŹšŵŤŨŦ ū ŜŵŜŨŞŚŦŢ Ţ 

ŤŨŧŤŪşŬŧŵŦ ŨśŨūŧŨŜŚŧŢşŦ ũŪŢŧŹŬŵů ŪşŲşŧŢţ ũŨ ŢšťŚŝŚşŦŨŦŭ ŜŨũŪŨūŭ. 

ňśŨūŧŨŜŚŧŢş ŞŨťŠŧŨ śŵŬŶ Ŝ ŜŢŞş ŪŚūűşŬŨŜ, ūūŵťŨŤ ŧŚ ťŢŬşŪŚŬŭŪŭ, ŢšťŨŠşŧŢŹ 

ŦŨŬŢŜŨŜ, ũŨśŭŞŢŜŲŢů ũŪŢŧŹŬŶ ŬŨ, ŢťŢ ŢŧŨş ŪşŲşŧŢş. 

 ŉŨŹūŧŢŬşťŶŧŚŹ šŚũŢūŤŚ ŜŵũŨťŧŹşŬūŹ ŧŚ ťŢūŬŚů ŮŨŪŦŚŬŚ ĺ4 (297 × 210 

ŦŦ), űşŪŬşŠŢ Ţ ŪŢūŭŧŤŢ ŜŵũŨťŧŹŸŬūŹ Ŝ ŤŚŪŚŧŞŚŲş, Ś ŬŚŤŠş ũŨŹūŧŹŸŬ 

ũŨŞŪŢūŭŧŨűŧŵŦŢ ũŨŞũŢūŹŦŢ; ŧŚŞ ŬŚśťŢŰşţ ŭŤŚšŵŜŚŸŬ şŻ ŧŨŦşŪ Ţ ŧŚšŜŚŧŢş, 

ŪŢūŭŧŤŢ ŨśŨšŧŚűŚŸŬūŹ Ŝ ŧŢŠŧşţ űŚūŬŢ. ŇŭŦşŪŚŰŢŹ ŬŚśťŢŰ Ţ ŪŢūŭŧŤŨŜ 

ūŤŜŨšŧŚŹ.   

 

ŋŨŞşŪŠŚŧŢş ŤŨŧŬŪŨťŶŧŨţ ŪŚśŨŬŵ 

 

           ńŨŧŬŪŨťŶŧŚŹ ŪŚśŨŬŚ ūŨūŬŨŢŬ Ţš ūťşŞŭŸųŢů ŨūŧŨŜŧŵů ŝťŚŜ: 

1. ŉŪŨşŤŬŢŪŨŜŚŧŢş ŜŨŞŨůŪŚŧŢťŢųŚ ŧŚ ũťŚŧş: ŨũŪşŞşťşŧŢş şŝŨ 

ŦşūŬŨŪŚūũŨťŨŠşŧŢŹ; ŜŵśŨŪ ūŬŜŨŪŚ ũťŨŬŢŧŵ; ŨũŪşŞşťşŧŢş ŨŬŦşŬŨŤ 

ŧŨŪŦŚťŶŧŨ-ũŨŞũŨŪŧŨŝŨ ŭŪŨŜŧŹ (Ňŉō), ŦŢŧŢŦŚťŶŧŨŝŨ ŭŪŨŜŧŹ ŜŨŞŵ (Minōļ). 

2. ŊŚūűşŬ ŨśŴşŦŚ ŜŨŞŨůŪŚŧŢťŢųŚ. 

3. ŊŚūűşŬ šşŦťŹŧŨţ ũťŨŬŢŧŵ. 

4. ŊŚūűşŬ ŜŨŞŨūśŪŨūŨŜ. 

4.1 ŌŪŭśűŚŬŵţ ŜŨŞŨūśŪŨū. 

4.1 ŊŚūűşŬ ŬŪŭśűŚŬŨŝŨ ŜŨŞŨūśŪŨūŚ. 

4.2 ļŨŞŨūśŪŨū ū śŨŤŨŜŵŦ ūťŢŜŨŦ. 

5. ĺŝŪŨũŪŨŦŵŲťşŧŧŨş ũŪŨŢšŜŨŞūŬŜŨ. 

5.1. ŋşťŶūŤŨůŨšŹţūŬŜşŧŧŨş ũŪŨŢšŜŨŞūŬŜŨ. 
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5.2. ŉŨťŢŜŧŨţ ŪşŠŢŦ ūşťŶūŤŨůŨšŹţūŬŜşŧŧŵů ŤŭťŶŬŭŪ. 

5.2.1 ļŵśŨŪ ŪŚūűŻŬŧŨŝŨ ŝŨŞŚ. 

5.2.2 ňũŪşŞşťşŧŢş ŢūũŚŪşŧŢŹ ū ŜŨŞŧŨţ ũŨŜşŪůŧŨūŬŢ. 

5.2.3 ŊŚūűŻŬ ŞşŮŢŰŢŬŚ ūŭŬŨűŧŨŝŨ ŭŜťŚŠŧşŧŢŹ. 

5.2.4 ňũŪşŞşťşŧŢş ũŨťŢŜŧŵů Ţ ŨŪŨūŢŬşťŶŧŵů ŧŨŪŦ. 

6. ňũŪşŞşťşŧŢş ńŉľ ŨŪŨūŢŬşťŶŧŨţ ūŢūŬşŦŵ Ţ ŧşŨśůŨŞŢŦŨŝŨ ŤŨťŢűşūŬŜŚ 

ŜŨŞŵ ŞťŹ ŨŪŨŲşŧŢŹ. 

7. ļŨŞŨůŨšŹţūŬŜşŧŧŵş ŪŚūűşŬŵ. 

8. ŊŚšŪŚśŨŬŤŚ ŜŨŞŨŨůŪŚŧŧŵů ŦşŪŨũŪŢŹŬŢţ. 

10.ŉŪŢťŨŠşŧŢŹ 

 

łūůŨŞŧŵş ŞŚŧŧŵş ŞťŹ ŪŚūűşŬŨŜ  

(30 ŜŚŪŢŚŧŬŨŜ). 

 

1. ŌŨũŨŝŪŚŮŢűşūŤŢţ ũťŚŧ ŭűŚūŬŤŚ ū ŝŨŪŢšŨŧŬŚťŹŦŢ (űşŪşš ŨŞŢŧ ŦşŬŪ) Ŝ ŦŚū-

ŲŬŚśş. 

2. ŋŜşŞşŧŢŹ Ũ ŜŨŞŨũŨŬŪşśŢŬşťŹů. 

3. ĺŝŪŨŮŢšŢűşūŤŢş ūŜŨţūŬŜŚ ũŨűŜŵ ŨŪŨŲŚşŦŨŝŨ ŭűŚūŬŤŚ Ţ ũŨŝŨŞŧŵş ŭūťŨŜŢŹ 

šŚ ŪŹŞ ťşŬ. 
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ŊŢū.1. ŉťŚŧ ŭűŚūŬŤŚ 

 

I. ŉŪŨşŤŬŢŪŨŜŚŧŢş ŜŨŞŨůŪŚŧŢťŢųŚ 

 

       ŉŪŨşŤŬŢŪŭşŦŨş ŜŨŞŨůŪŚŧŢťŢųş ūťŭŠŢŬ ŞťŹ ŨŪŨŲşŧŢŹ 

ūşťŶūŤŨůŨšŹţūŬŜşŧŧŵů ŤŭťŶŬŭŪ Ţ ŞŨťşŜŨŝŨ ťşŬŧşŝŨ ŜŨŞŨūŧŚśŠşŧŢŹ 

ŧŚūşťşŧŧŨŝŨ ũŭŧŤŬŚ. 

       1. ŋŬŜŨŪ śŭŞŭųşţ ũťŨŬŢŧŵ ŜŵśŢŪŚşŬūŹ ū ŭűŻŬŨŦ ūťşŞŭŸųŢů ũŨťŨŠşŧŢţ: 
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Ư ŜŨŞŨůŪŚŧŢťŢųş ŞŨťŠŧŨ ŧŚůŨŞŢŬŶūŹ śťŢŠş Ť ŨŪŨŲŚşŦŨŦŭ ŭűŚūŬŤŭ; 

Ư ũťŨŬŢŧŚ ūŬŪŨŢŬūŹ Ŝ ŧŚŢśŨťşş ŭšŤŨŦ ŦşūŬş, űŬŨśŵ ŨśŴşŦ šşŦťŹŧŵů ŪŚśŨŬ śŵť 

ŦŢŧŢŦŚťŶŧŵŦ; 

Ư ŜŨŞŨşŦ ŠşťŚŬşťŶŧŨ ŪŚūũŨťŚŝŚŬŶ ŜŵŲş ŧŚūşťşŧŧŨŝŨ ũŭŧŤŬŚ, űŬŨśŵ Ŝ ŧşŝŨ ŧş 

ũŨũŚŞŚťŢ ūŬŨűŧŵş šŚŝŪŹšŧşŧŧŵş ŜŨŞŵ; 

       2. ĽťŭśŢŧŭ ŜŨŞŵ Ŝ ŜŨŞŨşŦş ŜŵśŢŪŚŸŬ Ŝ ũŪşŞşťŚů 3 - 7 Ŧ, ũŪŢ ŷŬŨŦ 
ŨŬŦşŬŤŭ ŧŨŪŦŚťŶŧŨ-ũŨŞũŨŪŧŨŝŨ ŭŪŨŜŧŹ (ƸŇŉō) ŜŨŞŵ ũŪŢŧŢŦŚŸŬ ū ŭūťŨ-

ŜŢşŦ, űŬŨśŵ Ŝ šŨŧŭ šŚŬŨũťşŧŢŹ ŧş ũŨũŚŞŚť ŧŚūşťşŧŧŵţ ũŭŧŤŬ. ŉŪŢ ŷŬŨŦ šŚ 
ŦŢŧŢŦŚťŶŧŵţ ŭŪŨŜşŧŶ ŜŨŞŵ (ƸMinōļ) ũŪŢŧŢŦŚşŬūŹ ŝŨŪŢšŨŧŬŚťŶ, ŢŦşŸųŚŹ 

ūŚŦŭŸ ŧŢšŤŭŸ ŨŬŦşŬŤŭ Ŝ ūşűşŧŢŢ ũťŨŬŢŧŵ. ļ ŞŚŧŧŨŦ ũŪŢŦşŪş (ŪŢū. 1) 
ƸMinōļ=119,ƸŇŉō=123. ŌŚŤŢŦ ŨśŪŚšŨŦ, ŝťŭśŢŧŚ ŜŨŞŵ Ŝ ŜŨŞŨşŦş ūŨ-

ūŬŚŜťŹşŬ Ňļ=ƸŇŉō-ƸMinōļ=123-119=4 Ŧ.                      

      3. ŇŚūŨūŧŚŹ ūŬŚŧŰŢŹ ŧş ŞŨťŠŧŚ šŚŬŚũťŢŜŚŬŶūŹ Ţ ŦŨŠşŬ ŪŚūũŨťŚŝŚŬŶūŹ šŚ 

ũťŨŬŢŧŨţ, Ŭ.ş. Ŝ ŧŢŠŧşŦ śŶşŮş ŧŚ 1 Ŧ ŜŵŲş ŝŨŪŢšŨŧŬŚťŢ, ūŨŨŬŜşŬūŬŜŭŸųşţ 

ŦŢŧŢŦŚťŶŧŨŦŭ ŭŪŨŜŧŸ ŜŨŞŵ. ŊŚūūŬŨŹŧŢş ŨŬ ŨūŧŨŜŚŧŢŹ ũťŨŬŢŧŵ ŞŨ ŧŚūŨūŧŨţ 

ūŬŚŧŰŢŢ 30-50 Ŧ. ŋ ŜŨŞŨŻŦŨŦ ŧŚūŨūŧŚŹ ūŬŚŧŰŢŹ ūŨşŞŢŧŹşŬūŹ  ū ũŨŦŨųŶŸ 

ūŚŦŨŬşűŧŨţ, ŢťŢ ūŚŦŨŬşűŧŨ-ŜūŚūŵŜŚŸųşţ ťŢŧŢţ, ũŨ ŤŨŬŨŪŨţ ŧŚūŨū šŚśŢŪŚşŬ 

ŜŨŞŭ Ţš ŜŨŞŨůŪŚŧŢťŢųŚ ŞťŹ ŨŪŨŲşŧŢŹ ūşťŶūŤŨůŨšŹţūŬŜşŧŧŵů ŤŭťŶŬŭŪ Ţ 

ŞŨťşŜŨŝŨ ťşŬŧşŝŨ ŜŨŞŨūŧŚśŠşŧŢŹ ŧŚūşťşŧŧŨŝŨ ũŭŧŤŬŚ. 

 

2. ŊŚūűşŬ ŨśŴşŦŚ ŜŨŞŨůŪŚŧŢťŢųŚ 

         

ľťŹ ŨśşūũşűşŧŢŹ ŜŨŞŨţ ŨŪŨŲŚşŦŨŝŨ ŭűŚūŬŤŚ Ţ ŜŨŞŨũŨŬŪşśŢŬşťşţ 

ŧşŨśůŨŞŢŦŨ šŧŚŬŶ ŤŨťŢűşūŬŜŨ ŜŨŞŵ Ŝ ũŪŨşŤŬŢŪŭşŦŨŦ ŜŨŞŨşŦş. ňśŴşŦ ŷŬŨŬ 

ŦŨŠşŬ śŵŬŶ ŨũŪşŞşťşŧ ũŨ ũŪŢśťŢŠşŧŧŨţ ŮŨŪŦŭťş: 

V= K × H × B × L, Ŧ
3
,                                                                                                

(1) 

ŝŞş HƥŧŚŢśŨťŶŲŚŹ ŝťŭśŢŧŚ ŜŨŞŵ ŭ ũťŨŬŢŧŵ, Ŧ;  

      BƥŲŢŪŢŧŚ ŜŨŞŧŨţ ũŨŜşŪůŧŨūŬŢ ŭ ũťŨŬŢŧŵ, Ŧ; 

      LƥŞťŢŧŚ ũŪŭŞŚ, Ŧ;                         

    KƥŤŨŷŮŮŢŰŢşŧŬ, ůŚŪŚŤŬşŪŢšŭŸųŢţ ŮŨŪŦŭ śŚťŤŢ, ŪŚŜşŧ 
1
/4-

1
/16 ; ũŪŢ ŮŨŪŦş 

śŚťŤŢ, śťŢšŤŨţ Ť ŝŨŪŢšŨŧŬŚťŶŧŨţ, K=
1
/16;  ũŚŪŚśŨťŢűşūŤŨţƥ K=

1
/4 . 

 ŒŢŪŢŧŚ, ŞťŢŧŚ Ţ ŝťŭśŢŧŚ ŜŨŞŨşŦŚ ŨũŪşŞşťŹŸŬūŹ ũŨ ũťŚŧŭ Ţ ū ŭűşŬŨŦ 

šŚŞŚŧŧŨŝŨ ŦŚūŲŬŚśŚ. 

         ŉŪŢŦşŪ ŪŚūűŻŬŚ: 

V=
1
/5 × 4 × 420 ×1050 = 352000 Ŧ

3
. 

       ĻŨťşş ŬŨűŧŨ ŨśŴŻŦ ŜŨŞŨůŪŚŧŢťŢųŚ ŨũŪşŞşťŹŸŬ  ū ũŨŦŨųŶŸ ũťŚŧŢŦşŬŪŚ. 

ľťŹ ŷŬŨŝŨ ŨũŪşŞşťŹşŬūŹ ŰşŧŚ ŞşťşŧŢŹ ũťŚŧŢŦşŬŪŚ ŧŚ ŤŜŚŞŪŚŬş ūŨ ūŬŨŪŨŧŚŦŢ 

10×10 ūŦ, Ś šŚŬşŦ ũťŨųŚŞŢ, ŨŝŪŚŧŢűşŧŧŵş ŝŨŪŢšŨŧŬŚťŹŦŢ Ţ ũťŨŬŢŧŨţ. 

ŌŨũŨŝŪŚŮŢűşūŤŢţ ũťŚŧ ŭűŚūŬŤŚ ū ŝŨŪŢšŨŧŬŚťŹŦŢ ŜŵŞŚşŬūŹ ũŨ šŚŞŚŧŢŸ. ŊŚūűşŬ 

ūŜŨŞŢŬūŹ Ŝ ŬŚśť.1. 
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ŌŚśťŢŰŚ 1. - ŊŚūűşŬ ŨśŴşŦŚ ŜŨŞŨůŪŚŧŢťŢųŚ (ŝŪŚŮŢűşūŤŢţ ūũŨūŨś) 

 

ĽŨŪŢšŨŧŬŚťŢ 

ŉťŨųŚŞŶ 

ūşűşŧŢŹ, Ŭŵū. 

Ŧ
2
 

ŋŪşŞŧŹŹ ũťŨ-

ųŚŞŶ ŦşŠŞŭ 

ūşűşŧŢŹŦŢ, 

Ŭŵū. Ŧ
2
 

ňśŴşŦ ŦşŠŞŭ 

ūşűşŧŢŹŦŢ, 

Ŭŵū. Ŧ
3
 

ŋŭŦŦŚŪŧŵţ 

ŨśŴşŦ ŧŚŪŚū-

ŬŚŸųŢŦ 

ŢŬŨŝŨŦ, Ŭŵū. 

Ŧ
3
 

1 2 3 4 5  

     

     

     

     

łŬŨŝŨ     352.00 

 

łŬŚŤ, ŨśŴşŦ ũŪŭŞŚ, ŜŵűŢūťŹşŬūŹ ŧŚŢśŨťşş ŬŨűŧŨ ũťŚŧŢŦşŬŪŨŦ ƥ352.00 Ŭŵū.Ŧ
3
, 

ŢťŢ ū ũŪŢŦşŧşŧŢşŦ ũŚťşŬŤŢ, ŢťŢ ŝşŨŦşŬŪŢűşūŤŢů ŮŢŝŭŪ. 

3. ŊŚūűşŬ šşŦťŹŧŨţ ũťŨŬŢŧŵ 

         ľťŹ ŨŬūŵũŤŢ šşŦťŹŧŨţ ũťŨŬŢŧŵ ŧşŨśůŨŞŢŦŨ šŧŚŬŶ şş ŪŚšŦşŪŵ, Ŭ.ş. 

ŜŵūŨŬŭ, ŲŢŪŢŧŭ ŝŪşśŧŹ, ũŨŞŨŲŜŵ (ŨūŧŨŜŚŧŢŹ) Ţ Ŝ ŤŨŧşűŧŨŦ ŢŬŨŝş ŨśŴşŦ 

šşŦťŹŧŵů ŪŚśŨŬ ũŨ şŻ ŜŨšŜşŞşŧŢŸ. ňũŪşŞşťşŧŢş ŷŬŢů ŜşťŢűŢŧ ŜůŨŞŢŬ Ŝ 

ŪŚūűşŬ ũťŨŬŢŧŵ. 

3.1. ļŵūŨŬŚ ũťŨŬŢŧŵ ŨũŪşŞşťŹşŬūŹ ũŨ ūťşŞŭŸųşţ ŮŨŪŦŭťş; 

Ňũť = ŇŜŨŞ + ŇŜŨťŧ + ŇšŚũ,                                                                                                                                    (2)               
ŝŞş ŇŜŨŞ =ƸŇŉō -ƸMinōļ ŭŠş ŨũŪşŞşťşŧŚ Ţ ūŨūŬŚŜťŹşŬ 4 Ŧ; 

ŇŜŨťŧ=0,0208 × ŋŦŚů
5/4 
× LŜŨťŧ

1/3
, Ŧ,                                                                       (3) 

ŝŞş ŋŦŚůƥŦŚŤūŢŦŚťŶŧŚŹ ūŤŨŪŨūŬŶ ŜşŬŪŚ, Ŧ/ū;( Ţš šŚŞŚŧŢŹ ŋŦŚů=20 Ŧ/ū;) 

LŜŨťŧŵƥŦŚŤūŢŦŚťŶŧŚŹ ŞťŢŧŚ ŧŚŝŨŧŚ ŜŨťŧŵ ŧŚ ũťŨŬŢŧŭ ŢšŦşŪŹşŬūŹ ũŨ ũťŚŧŭ Ŝ 

ŤŦ;                  LŜŨťŧŵ = 1,05 ŤŦ; 

ŇšŚũƥŜŵūŨŬŚ ŧŚ šŚũŚū, ŞťŹ ŧşśŨťŶŲŢů ũťŨŬŢŧ ũŪŢŧŢŦŚşŬūŹ ŨŬ 0,3 ŞŨ 0,5 Ŧ.  

ŉŪŢŦşŪ ŪŚūűŻŬŚ: 

ŇŜŨťŧ=0,0208 × 20
5/4 
×1,05

1/3 
= 0,885 Ŧ ǎ 0,89 Ŧ; 

Ňũť = 4 + 0,89 + 0,41 = 5,3 Ŧ. 

 

3.2 ļŵūŨŬŭ ŜŨťŧŵ ŦŨŠŧŨ ŨũŪşŞşťŢŬŶ ũŨ ŮŨŪŦŭťş ŋŨŤŨťŨŜŚ (ŞťŹ ŇŜŨŞŵ 4-5 Ŧ); 

ŇŜŨťŧŵ = 0,073 × ŋŦŚů, Ŧ                                                                                         (4)  

         őŬŨśŵ ŨũŪşŞşťŢŬŶ ŞťŢŧŭ ũťŨŬŢŧŵ, ŧşŨśůŨŞŢŦŨ ŧŚţŬŢ ŨŬŦşŬŤŭ ŝŪşśŧŹ 

ũťŨŬŢŧŵ, Ś šŚŬşŦ ũŪŨŞťŢŬŶ şş Ŝ Ũśş ūŬŨŪŨŧŵ ŞŨ ũşŪşūşűşŧŢŹ ū ũŨŜşŪůŧŨūŬŶŸ 

šşŦťŢ (ŪŢū. 1). 

ƸĽŪ.ũ = ƸŇŉō+ ŇŜŨťŧŵ + ŇšŚũ.                                                                        (5)   

ŉŪŢŦşŪ ŪŚūűŻŬŚ: 
ƸĽŪ.ũ =119 + 5,3 Ŧ = 124,3 Ŧ 
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                          ŊŢū. 2. ŉŪŨŞŨťŶŧŵţ ŪŚšŪşš ũťŨŬŢŧŵ 

 

         ŉŪŨŞťŢŜ ŧŚ ũťŚŧş ũŨ ŧŚũŪŚŜťşŧŢŸ ūŬŜŨŪŚ ŝŪşśşŧŶ ũťŨŬŢŧŵ ŞŨ ŨŬŦşŬŤŢ 

124,3 Ŝ Ŭŭ Ţ ŞŪŭŝŭŸ ūŬŨŪŨŧŭ, ũŨťŭűŢŦ ŞťŢŧŭ ũťŨŬŢŧŵ Lũť. ļ ŧŚŲşŦ ũŪŢŦşŪş 

ŨŧŚ ūŨūŬŚŜťŹşŬ Lũť=850 Ŧ.  

Ư ŒŢŪŢŧŚ ŝŪşśŧŹ ũťŨŬŢŧŵ ļŝŪ, Ŭ.ş. ũŪŨşšŠşţ űŚūŬŢ, ũŪŢŧŢŦŚşŬūŹ Ŝ ũŪşŞşťŚů 

5-10 Ŧ( ŞťŹ ŧşśŨťŶŲŢů šşŦťŹŧŵů ũťŨŬŢŧ). 

Ư ŒŢŪŢŧŚ ũŨŞŨŲŜŵ ŢťŢ ŨūŧŨŜŚŧŢŹ ũťŨŬŢŧŵ ļŨūŧ. ŪŚūūűŢŬŵŜŚşŬūŹ ŢūůŨŞŹ Ţš 

šŚťŨŠşŧŢŹ ŦŨŤŪŨŝŨ Ţ ūŭůŨŝŨ ŨŬŤŨūŨŜ (ŪŢū. 2) ũŨ ŮŨŪŦŭťş:  

ļũŨŞ = ļŝŪ + 5Ňũť, Ŧ.                                                                                               (6) 

 

 
 

                    ŊŢū. 3. ŊŚšŪşš šşŦťŹŧŨţ ũťŨŬŢŧŵ 

 

       ņŢŧŢŦŚťŶŧŨş šŚťŨŠşŧŢş ŨŬŤŨūŨŜ šşŦťŹŧŵů ũťŨŬŢŧ ŪşŤŨŦşŧŞŭşŬūŹ: ŞťŹ 

ŦŨŤŪŨŝŨ 1:3-5, ūŭůŨŝŨ 1:2. 

ŉŪŢŦşŪ ŪŚūűŻŬŚ: 

 ŉŪŢŧŹŜ ŲŢŪŢŧŭ ŝŪşśŧŹ ļŝŪ=5 Ŧ, ũŨťŭűŢŦ:   

ļũŨŞ = 5 + (5 × 5,3) = 5 + 26,5 = 31,5 Ŧ. 

           ŁŧŚŹ ŪŚšŦşŪŵ Ŝūşů ūŨūŬŚŜťŹŸųŢů ũťŨŬŢŧŵ, ŨũŪşŞşťŹŸŬ ŨśŴşŦ 

šşŦťŹŧŨţ ũťŨŬŢŧŵ ũŨ ũŪŢśťŢŠşŧŧŨţ ŮŨŪŦŭťş:  

Vũť = 0,25 × Ňũť × Lũť × (ļŝŪ + ļũŨŞ), Ŧ
3
,                                                             (7) 

          ŉŪŢŦşŪ ŪŚūűŻŬŚ:              

  Vũť = 0,25 × 5,3 × 850 × (5 + 31,5) = 38780 Ŧ
3
. 
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ĻŨťşş ŬŨűŧŨ ŨśŴşŦ ũťŨŬŢŧŵ ŦŨŠŧŨ ŪŚūūűŢŬŚŬŶ ūŨŝťŚūŧŨ ũťŚŧŭ ũŨ ūşűşŧŢŹŦ. 

ŊŚūűşŬ ūŜŨŞŢŬūŹ Ŝ ŬŚśť. 2. 

ŌŚśťŢŰŚ 2. - ňśŴşŦ ũťŨŬŢŧŵ ũŨ ūşűşŧŢŹŦ (ŝŪŚŮŢűşūŤŢţ ūũŨūŨś) 

 

             

 ļŵūŨŬŚ ũťŨŬŢŧŵ Ŝ ŤŚŠŞŨŦ ūşűşŧŢŢ ũŨ ŝŨŪŢšŨŧŬŚťŹŦ ŨũŪşŞşťŹşŬūŹ ŤŚŤ 
 Ňũť.=ƸŝŪ.ũ. ƥƸũš., ŝŞş Ƹũš.ƥ ŨŬŦşŬŤŚ ũŨŜşŪůŧŨūŬŢ šşŦťŢ Ŝ ťŸśŨţ ŬŨűŤş ũŨ 

ūŬŜŨŪŭ ũťŨŬŢŧŵ, ŨũŪşŞşťŹşŬūŹ ũŨ ũťŚŧŭ (ŪŢū. 3) 

            ŉťŨųŚŞŶ ūşűşŧŢŹ Sūşű ŨũŪşŞşťŹşŬūŹ ŤŚŤ ũťŨųŚŞŶ ŬŪŚũşŰŢŢ (ŪŢū. 2), Ŭ.ş. 

ŤŚŤ ũŨťŭūŭŦŦŚ ŨūŧŨŜŚŧŢţ, ŭŦŧŨŠşŧŧŚŹ ŧŚ ŜŵūŨŬŭ: 

Sūşű. = 
2

)( ɺʧʦʜɺʛʨ+
 × Ň, Ŧ

2                                                                                                                            
 (8)                                                                              

              ŊŚūūŬŨŹŧŢş ŦşŠŞŭ ūŨūşŞŧŢŦŢ ūşűşŧŢŹŦŢ ŨũŪşŞşťŹşŬūŹ ũŨ ũťŚŧŭ ū 

ŭűşŬŨŦ ŦŚūŲŬŚśŚ. 

 

4. ŊŚūűşŬ ŜŨŞŨūśŪŨūŨŜ 

 

       ļŨ ŜŪşŦŹ ŜşūşŧŧşŝŨ ũŚŜŨŞŤŚ ŜŨŞŨůŪŚŧŢťŢųş šŚ ūűşŬ ŬŚťŵů ŜŨŞ ŦŨŠşŬ 

ũşŪşũŨťŧŹŬŶūŹ, ũŨŷŬŨŦŭ ŧşŨśůŨŞŢŦŨ ūśŪŨūŢŬŶ ťŢŲŧŸŸ ŜŨŞŭ šŚ ũťŨŬŢŧŭ, Ŭ.ş. 

Ŝ ŧŢŠŧŢţ śŶşŮ, ū ŬşŦ, űŬŨśŵ ŧş ũŪşŜŵŲŚŬŶ ŧŨŪŦŚťŶŧŨ-ũŨŞũŨŪŧŨŝŨ ŭŪŨŜŧŹ 

(Ňŉō). őŚųş ŜūşŝŨ ŞťŹ ŷŬŨţ ŰşťŢ ũŪŢŦşŧŹŸŬūŹ ŬŪŭśűŚŬŵţ ŜŨŞŨūśŪŨū, (ŬŪŭśŚ, 

ŇŨŦşŪ 

ūşűşŧŢ

Ź 

ļŵūŨŬŚ 

ũťŨŬŢŧŵ 

Ň, Ŧ 

ŒŢŪŢŧŚ 

ŝŪşśŧŹ, 

ļŝŪ, Ŧ  

ŒŢŪŢŧŚ 

ũŨŞŨŲŜŵ 

ļũŨŞ, Ŧ 

ŉťŨųŚŞŶ 

ūşűşŧŢŹ, 

Sūşű, Ŧ
2
 

(ļŝŪ + 

ļũŨŞ) 

 

ŋŪşŞŧŹŹ 

ũťŨųŚŞŶ 

ŦşŠŞŭ 

ūş-

űşŧŢŹŦŢ 

SūŪ, Ŧ
2
 

ŊŚūūŬŨŹ-

ŧŢş 

ŦşŠŞŭ 

ūşűşŧŢŹŦ

Ţ 

L, Ŧ 

ňśŴşŦ Ŧş-

ŠŞŭ ūşűş-

ŧŢŹŦŢ, V, 

Ŧ
3
, ŝŪ.śůŝŪ.7 

1 2 3 4 5 6 7 8 

1        

2        

3        

4        

5        

6        

7        

8        

9        

10        

11        

12        

13        

14       
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ũŪŨťŨŠşŧŧŚŹ Ŝ ŨūŧŨŜŚŧŢŢ ũťŨŬŢŧŵ).ĺťŶŬşŪŧŚŬŢŜŨţ ŦŨŠşŬ ūťŭŠŢŬŶ 

ŜŨŞŨūśŪŨū ū śŨŤŨŜŵŦ ūťŢŜŨŦ, śŵūŬŪŨŬŨŤ, ũşŪşũŚŞ Ţ ŞŪ. 

           ŉŚŜŨŞŤŨŜŵţ ŪŚūůŨŞ ŨũŪşŞşťŹşŬūŹ Ŝ šŚŜŢūŢŦŨūŬŢ ŨŬ ŦşūŬŨũŨťŨŠşŧŢŹ 

ŜŨŞŨůŪŚŧŢťŢųŚ Ţ ũťŨųŚŞŢ ŜŨŞŨūśŨŪŚ. 

           ŉŚŜŨŞŤŨŜŵţ ŪŚūůŨŞ (QũŚŜ) ŨũŪşŞşťŹşŬūŹ Ŝ ŞŜŚ ŷŬŚũŚ: 

Ś) ŨũŪşŞşťşŧŢş ŧŨŪŦŵ ūŬŨŤŚ: 

ŋŪşŞŧşŝŨŞŨŜŚŹ ŧŨŪŦŚ ūŬŨŤŚ U ŨũŪşŞşťŹşŬūŹ ũŨ ŤŚŪŬş ŢšŨťŢŧŢţ ŢťŢ Ţš ŬŚśť. 3. 

ŌŚśťŢŰŚ 3. ŇŨŪŦŚ ūŬŨŤŚ ŞťŹ ŧşŤŨŬŨŪŵů ŝşŨŝŪŚŮŢűşūŤŢů šŨŧ 

 

ŇŚūşťşŧŧŵţ ũŭŧŤŬ ŇŨŪŦŚ ūŬŨŤŚ 

Ŭŵū. Ŧ
3
/ŤŦ

2 
Ŧ

3
/ŝŚ 

ňŦūŤ 

őşťŹśŢŧūŤ, ńŭŪŝŚŧ 

ńŪŚūŧŨŹŪūŤ, ńşŦşŪŨŜŨ, łŪŤŭŬūŤ, 

ĺśŚŤŚŧ 

ĻŚŪŧŚŭť 

ŇŨŜŨūŢśŢŪūŤ, ŌŨŦūŤ 

ŊŭśŰŨŜūŤ, ĺťşţūŤ 

19 

40 

180 

100 

75 

15 

190 

400 

1800 

1000 

750 

150 

 

          ŇŚũŪŢŦşŪ, ŞťŹ ťşūŨūŬşũŧŨţ šŨŧŵ ŉŪŢŨśūŤŨţ ťşūŨūŬşũŢ ŧŨŪŦŚ 

ŝŨŞŨŜŨŝŨ ūŬŨŤŚ ūŨūŬŚŜŢŬ: UūŬŨŤŚ=75 Ŭŵū.Ŧ
3
/ŤŦ

2
. 

Ŝ) ŨũŪşŞşťşŧŢş ũŚŜŨŞŤŨŜŨŝŨ ŪŚūůŨŞŚ.  

         ŉŚŜŨŞŤŨŜŵţ ŪŚūůŨŞ QũŚŜ ŨũŪşŞşťŹşŬūŹ ŞťŹ ŝŨŞŚ 1%-ţ ŨśşūũşűşŧŧŨūŬŢ, 

Ŭ.ş. ŞťŹ  ŪŚūűşŬŚ ũŪŢŧŢŦŚşŦ ũŚŜŨŞŨŤ, ŤŨŬŨŪŵţ śŵŜŚşŬ ŨŞŢŧ ŪŚš Ŝ 100 ťşŬ. 

ŅŸśŨţ ŧŚūşťŻŧŧŵţ ũŭŧŤŬ ŪŚūũŨťŚŝŚşŬūŹ Ŝ śŚūūşţŧş ŤŚŤŨţ-ťŢśŨ ŪşŤŢ ŢťŢ 

ŦşŠŞŭŪşűŶŹ (ũŪŢť. 2):  

ńŭŪŝŚŧ, őşťŹśŢŧūŤ ƥ ŌŨśŨťŶūŤŚŹ ťşūŨūŬşũŶ; 

ŊŭśŰŨŜūŤ, ňŦūŤ ,ĺťşţūŤƥ ńŭťŭŧŞŢŧūŤŚŹ ťşūŨūŬşũŶ;  

ĺśŚŤŚŧ, ńŪŚūŧŨŹŪūŤ, łŪŤŭŬūŤ, ńşŦşŪŨŜŨ ƥ ŋŚŹŧŨ-ŋŢśŢŪūŤŢţ ŝŨŪŧŵţ ŪŚţŨŧ; 

ŇŨŜŨūŢśŢŪūŤ, ĻŚŪŧŚŭť, ŌŨŦūŤ ƥ ŉŪŢŨśūŤŚŹ ťşūŨūŬşũŶ. 

 

          ľťŹ ũŪŢŦşŪŚ ũŪŨŜşŞŻŦ ŪŚūűşŬ ũŚŜŨŞŤŨŜŨŝŨ ŪŚūůŨŞŚ ŞťŹ šŨŧŵ 

ŉŪŢŨśūŤŨţ ťşūŨūŬşũŢ ũŪŢ ŧŨŪŦş ūŬŨŤŚ 75 Ŭŵū.Ŧ
3
/ŤŦ

2
 ŞťŹ šŚŞŚŧŧŨţ ũťŨųŚŞŢ 

ŜŨŞŨūśŨŪŚ F=12 ŤŦ
2
.ňũŪşŞşťŹşŦ ũŚŜŨŞŤŨŜŵş ŪŚūůŨŞŵ ŢūůŨŞŹ Ţš ŧŨŪŦŵ ūŬŨŤŚ 

U Ţ ũťŨųŚŞŢ ŜŨŞŨūśŨŪŚ F. 

 

ŇŨŪŦŚ ūŬŨŤŚ                  F=10 ŤŦ
2          

F=15 ŤŦ
2 

63 Ŭŵū.Ŧ
3
/ŤŦ

2 
  QũŚŜ=3,61 Ŧ

3
/ū  QũŚŜ=4,97 Ŧ

3
/ū 

 

ŇŨŪŦŚ ūŬŨŤŚ                   F=10 ŤŦ
2         

F=15 ŤŦ
2 

126 Ŭŵū.Ŧ
3
/ŤŦ

2                   
QũŚŜ=6,6 Ŧ

3
/ū              QũŚŜ=9,0 Ŧ

3
/ū 

 

         ŌşũşŪŶ ũŪŨŜŨŞŢŦ ŢŧŬşŪũŨťŹŰŢŸ Ţ ŧŚůŨŞŢŦ ũŚŜŨŞŤŨŜŵţ ŪŚūůŨŞ ŞťŹ 

ŬŪşśŭşŦŨţ ŧŨŪŦŵ ūŬŨŤŚ U=75 Ŭŵū.Ŧ
3
/ŤŦ

2 
Ţ ũťŨųŚŞŢ ŜŨŞŨūśŨŪŚ F=12 ŤŦ

2
. 
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          ŇŚ şŞŢŧŢŰŭ ũťŨųŚŞŢ ŪŚšŧŨūŬŶ Ŝ ŪŚūůŨŞş ūŨūŬŚŜŢŬ ŞťŹ ŧŨŪŦŵ ūŬŨŤŚ 63 

Ŭŵū. Ŧ
3
/ŤŦ

2
  

Q = 
1015

61,397,4

-

-
 = 

Ȣ
= 0,272 Ŧ

3
/ū. 

ľťŹ F=10 ŤŦ
2
 ũŚŜŨŞŤŨŜŵţ ŪŚūůŨŞ ūŨūŬŚŜťŹşŬ QũŚŜ= 3,61 Ŧ

3
/ū, ŬŨŝŞŚ ŞťŹ F=12 

ŤŦ
2 
Ũŧ ūŨūŬŚŜŢŬ  

QũŚŜ= 3,61+ 0,272 × 2=4,15 Ŧ
3
/ū. 

ĺŧŚťŨŝŢűŧŵţ ŪŚūűşŬ ũŪŨŢšŜŨŞŢŦ ŞťŹ ŧŨŪŦŵ ūŬŨŤŚ U=126 Ŭŵū.Ŧ
3
/ŤŦ

2
: 

Q = 
1015

6,60,9

-

-
 = 

5

4,2
= 0,48 Ŧ

3
/ū. 

ľťŹ F=12 ŤŦ
2
  

QũŚŜ=6,6 + 0,48 × 2=7,56 Ŧ
3
/ū. 

ŉŨ ŬŚŤŨŦŭ Šş ũŪŢŧŰŢũŭ ũŪŨŜŨŞŢŦ ŢŧŬşŪũŨťŹŰŢŸ ŞťŹ ŧŨŪŦŵ ūŬŨŤŚ U=75 Ŭŵū. 

Ŧ
3
/ŤŦ

2
 Ţ ũťŨųŚŞŢ ŜŨŞŨūśŨŪŚ F=12 ŤŦ

2
  

Q = 
63126

15,456,7

-

-
 = 

63

41,3
 = 0.054 Ŧ

3
/ū ŧŚ şŞŢŧŢŰŭ ŧŨŪŦŵ ūŬŨŤŚ. 

ł ŨŤŨŧűŚŬşťŶŧŨ: 

QũŚŜ=4,15 + 0,054 × 12 = 4,15 + 0,656 =4,72 Ŧ
3
/ū. 

ŗŬŨ Ţ şūŬŶ ŢūŤŨŦŵţ ũŚŜŨŞŤŨŜŵţ ŪŚūůŨŞ, ŧŚ ŤŨŬŨŪŵţ ŞŚťşş ŪŚūūűŢŬŵŜŚŸŬūŹ 

ũŪŨşŤŬŢŪŭşŦŵş ŜŨŞŨūśŪŨūŵ.  

 

4.1 ŊŚūűşŬ ŬŪŭśűŚŬŨŝŨ ŜŨŞŨūśŪŨūŚ 

        ľťŹ ŬŪŭśűŚŬŨŝŨ ŜŨŞŨūśŪŨūŚ ŨũŪşŞşťŹŸŬūŹ ŞťŢŧŚ Ţ ŞŢŚŦşŬŪ ŬŪŭśŵ ũŨ ūťş-

ŞŭŸųŢŦ ŮŨŪŦŭťŚŦ:  

LŬŪ= ļũŨŞ + 15 Ŧ,                                                                                                    (9) 

ŝŞş ļũŨŞ ƥ ŲŢŪŢŧŚ ũŨŞŨŲŜŵ ũťŨŬŢŧŵ, Ŧ: 

LŬŪ = 31,5 + 15 = 46,5 Ŧ. 

ŊŚūůŨŞ, ŤŨŬŨŪŵţ ŬŪŭśŚ ūŦŨŠşŬ ũŪŨũŭūŬŢŬŶ, ūŨūŬŚŜŢŬ: 

        Q = K × ,/ LZ   Ŧ
3
/ū                                                                                    (10)    

ŝŞş ń - ŤŨŷŮŮŢŰŢşŧŬ, šŚŜŢūŹųŢţ ŨŬ ŞŢŚŦşŬŪŚ ŬŪŭśŵ;  

      Z - ŧŚũŨŪ, ũŪŨŬŚťŤŢŜŚŸųŢţ ŜŨŞŭ ũŨ ŬŪŭśş, Ŧ;    

      L  - ŞťŢŧŚ ŬŪŭśŵ ŜŨŞŨūśŪŨūŚ, Ŧ. 

Z=ŇŜŨŞŵ - ľ/2, Ŧ,                                                                                                 (11) 

ŝŞş ŇŜŨŞ - ŝťŭśŢŧŚ ŜŨŞŵ Ŝ ŜŨŞŨŻŦş ũŪŢ şŝŨ ũŨťŧŨŦ šŚŬŨũťşŧŢŢ;  
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ŊŢū. 4. ŉŨũşŪşűŧŵţ ŪŚšŪşš ũťŨŬŢŧŵ 

ŁŧŚűşŧŢŹ ŤŨŷŮŮŢŰŢşŧŬŚ ń: 

ń    <ľ, ŦŦ 

24,93  1000 

11,58  750 

3,93  500 

2,40  400 

1,40    300 

0,60  200 

0,20  100 

 

        ľŢŚŦşŬŪ ŬŪŭśűŚŬŨŝŨ ŜŨŞŨūśŪŨūŚ ŨũŪşŞşťŹŸŬ ŦşŬŨŞŨŦ ũŨŞśŨŪŚ. ľťŹ ŷŬŨŝŨ 

ũŪŢŧŢŦŚŸŬ ťŸśŨţ, ŧŚ ŜŵśŨŪ, ŞŢŚŦşŬŪ, ũŨ ŤŨŬŨŪŨŦŭ śşŪŭŬ ń Ţ ũŨŞūŬŚŜťŹŸŬ Ŝ 

ŜŵŲşũŪŢŜşŞşŧŧŭŸ ŮŨŪŦŭťŭ. ňũŪşŞşťŹŸŬ ŪŚūůŨŞ ŜŨŞŵ, ŤŨŬŨŪŵţ ūŦŨŠşŬ ũŪŨ-

ũŭūŬŢŬŶ ŞŚŧŧŚŹ ŬŪŭśŚ, Ţ ūŪŚŜŧŢŜŚŸŬ şŝŨ ū ũŚŜŨŞŤŨŜŵŦ QũŚŜ. ĿūťŢ ŞŚŧŧŚŹ 

ŬŪŭśŚ ŧş ūũŪŚŜťŹşŬūŹ ū ũŪŨũŭūŤŨŦ ũŚŜŨŞŤŨŜŨŝŨ ŪŚūůŨŞŚ, ŬŨ ŪŚūūűŢŬŵŜŚŸŬ 

ŬŪŭśŭ ŞŪŭŝŨŝŨ, śŨťŶŲşŝŨ ŞŢŚŦşŬŪŚ. ļ ŧşŤŨŬŨŪŵů ūťŭűŚŹů ũŪŢůŨŞŢŬūŹ ūŬŚŜŢŬŶ 

ŞŜş ŢťŢ ŞŚŠş ŬŪŢ ŬŪŭśŵ ŞťŹ ũŪŨũŭūŤŚ ũŚŜŨŞŤŚ. 

ŉŪŢŦşŪ: 

     ŉşŪŜŨŧŚűŚťŶŧŨ ũŪŢŦşŦ ŬŪŭśŭ ľ=750ŦŦ, ũŪŢ ŷŬŨŦ ń=11,58. ļ ŧŚŲşŦ 

ũŪŢŦşŪş ŇŜŨŞ =4 Ŧ. 

QŪŚūű = 11,58 × LZ /  = 11,58 × 5,46/625,3  = 3,22 Ŧ
3
/ū, 

ŝŞş Z=Ň - ľ/2=4 - 0,75/2=3,625 Ŧ. 

łŬŚŤ, ŢŦşşŦ QũŚŜ=4,72 Ŧ
3
/ū > QŪŚūű=3,22 Ŧ

3
/ū, 

Ŭ.ş. ŬŪŭśŚ ŞŢŚŦşŬŪŨŦ 750 ŦŦ ŧş ŦŨŠşŬ ũŪŨũŭūŬŢŬŶ ũŚŜŨŞŤŨŜŵţ ŜşūşŧŧŢţ ŪŚū-

ůŨŞ, ũŨŷŬŨŦŭ ŧŚŞŨ ŢťŢ ŭŜşťŢűŢŬŶ ŞŢŚŦşŬŪ ŬŪŭśŵ, ŢťŢ ũŨūŬŚŜŢŬŶ şųş ŨŞŧŭ 

ŬŪŭśŭ, ũŪşŞŜŚŪŢŬşťŶŧŨ ūŞşťŚŜ ŪŚūűşŬ.  

     ľťŹ ľ=1000 ŦŦ ŢŦşşŦ ń=24,93. ļ ŧŚŲşŦ ũŪŢŦşŪş ŬŚŤŠş  ŇŜŨŞ =4 Ŧ. 

Z= 4 - ½ = 3,5 Ŧ Ţ, ūťşŞŨŜŚŬşťŶŧŨ, 

QŪŚūű = 24,93 × 5,46/5,3  = 6,85 Ŧ
3
/ū.  

          ŗŬŚ ŬŪŭśŚ ŨŬŜşűŚşŬ ũŪŨũŭūŤŭ ũŚŜŨŞŤŨŜŨŝŨ ŪŚūůŨŞŚ, ũŨŷŬŨŦŭ ŞťŹ 

ŬŪŭśűŚŬŨŝŨ ŜŨŞŨūśŪŨūŚ ū QũŚŜ=4,72 Ŧ
3
/ū ŭūŬŚŧŚŜťŢŜŚŸŬ ŬŪŭśŭ ľ=1000 ŦŦ. ŇŚ 

ŬŪŭśş ūŬŚŜŹŬ ŞŢŚŮŪŚŝŦŵ ŞťŹ ŭŦşŧŶŲşŧŢŹ ŮŢťŶŬŪŚŰŢŢ  Ţš ŪŚūűşŬŚ - ŨŞŧŚ ŞŢŚ-

ŮŪŚŝŦŚ ŧŚ ŨŞŢŧ ŦşŬŪ ŝťŭśŢŧŵ ŜŨŞŵ ũŪŭŞŚ (ŜŨŞŨůŪŚŧŢťŢųŚ), Ŭ.ş. Ŝ ŧŚŲşŦ 

ūťŭűŚş ūŬŚŜŹŬ űşŬŵŪş ŞŢŚŮŪŚŝŦŵ ŪŚŜŧŨŦşŪŧŨ ŞťŢŧş ŨūŧŨŜŚŧŢŹ ũťŨŬŢŧŵ. 

         ľťŹ ŭūŬŪŚŧşŧŢŹ ŮŢťŶŬŪŚŰŢŢ ũŨŞ ũťŨŬŢŧŨţ ŜŵũŨťŧŹŸŬ šŚŦŨŤ, ŤŨŬŨŪŵţ 

ŜŪşšŚşŬūŹ Ŝ ŜŨŞŨŭũŨŪ ŧŚ 0,5 Ŧ. 

4.2 ļŨŞŨūśŪŨū ū śŨŤŨŜŵŦ ūťŢŜŨŦ 

ŅŢŲŧŸŸ ŜŨŞŭ (ũŚŜŨŞŤŨŜŨŦŭ ŪŚūůŨŞŭ) Ţš ŜŨŞŨşŦŚ ũŪŢ ŮŨŪūŢŪŨŜŚŧŧŨŦ ŭŪŨŜŧş 

ũŚŜŨŞŤŚ ũŨ ũŨŞŜŨŞŹųşŦŭ ŤŚŧŚťŭ ŨŬŜŨŞŹŬ šŚ ũťŨŬŢŧŭ Ť ūťŢŜŧŨţ ŝŪŚŧŢ, 

ŤŨŬŨŪŭŸ ŜŵũŨťŧŹŸŬ ŝŨŪŢšŨŧŬŚťŶŧŨ Ţ ũŪŨũŭūŤŚŸŬ ŜŧŢš ũŨ Ŝūşţ ŞťŢŧş ŝŪŚŧŢ 

ŬŨŧŤŢŦ ūťŨşŦ, ŧş ūŦŵŜŚŹ šŚŞşŪŧŨŜŚŧŧŵţ ūŤťŨŧ. ŊŚūůŨŞ ŜŨŞŵ ŧŚ 1 

Ŧ.ũ.ūťŢŜŧŨţ ŝŪŚŧŢ 0,055 Ŧ
3
/ū. ňŬūŸŞŚ ŨũŪşŞşťŹŸŬ ŞťŢŧŭ ūťŢŜŧŨţ ŝŪŚŧŢ:                                                               

   L=Qmax/0,055=4,72/0,055=85,8 Ŧ.                                                                   (12) 
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       ŉŨŞŜŨŞŹųŢţ ŤŚŧŚť ūŬŪŨŢŬūŹ, ŤŚŤ ũŪŚŜŢťŨ, ŧŚ ŨūŜşųşŧŧŨŦ ūŤťŨŧş, űŬŨ 

ūũŨūŨśūŬŜŭşŬ śŵūŬŪŨţ ŨűŢūŬŤş ŤŚŧŚťŚ ŜşūŧŨţ ŨŬ ūŧşŝŚ. ŊŚśŨűŢţ ūŤťŨŧ 

ūťŢŜŧŨţ ŝŪŚŧŢ ŞŨťŠşŧ ŪŚšŞşťŹŬŶūŹ ŞşŪŧŨŜŵŦŢ ūŬşŧŤŚŦŢ ŧŚ ũŨťŨūŵ 5-10 Ŧ. 

ŊŚūūŬŨŹŧŢş ŨŬ ũťŨŬŢŧŵ ŞŨ ŧŚűŚťŚ ũŨŞŜŨŞŹųşŝŨ ŤŚŧŚťŚ Ŝ ŜşŪůŧşŦ śŶşŮş 20-30 

Ŧ, Ŝ ŧŢŠŧşŦ ƥ 40-50 Ŧ. 

    ŒŢŪŢŧŚ ũŨŞŜŨŞŹųşŝŨ ŤŚŧŚťŚ ũŨ Şŧŭ: 

ļ= Qmax/1,42Ň
3/2
, Ŧ,                                                                                            (13) 

ŝŞş ŇƥŝťŭśŢŧŚ ŜŨŞŵ Ŝ ŤŚŧŚťş, ŢŧŨŝŞŚ ũŪŢŧŢŦŚşŬūŹ ŬŚŤŨţ (Ň=0,5 Ŧ), űŬŨśŵ 

ŜŨšŦŨŠşŧ śŵť ũŪŨşšŞ űşŪşš ŤŚŧŚť (ŷŬŨ śŵŜŚşŬ ũŪŢ ŨŬūŭŬūŬŜŢŢ ūŬŪŨţŦŚŬşŪŢŚ-

ťŨŜ ŧŚ ūŬŪŨŢŬşťŶūŬŜŨ ŦŨūŬŚ).  

         ŉŪŢŦşŪ ŪŚūűŻŬŚ: 

ļ ŞŪŭŝŢů ūťŭűŚŹů Ň ŦŨŠşŬ śŵŬŶ 1 Ŧ, ũŪŢ ŷŬŨŦ ŮŨŪŦŭťŚ ũŪŢŦşŬ ŜŢŞ  

                                                   ļ = Qmax / 1,42, Ŧ;  

ļ=4,72/1,42=3,324 Ŧ. 

         ŁŧŚŹ Ŝūş ůŚŪŚŤŬşŪŢūŬŢŤŢ ŜŨŞŨūśŪŨūŚ ū śŨŤŨŜŵŦ ūťŢŜŨŦ, ŧŚŧŨūŹŬ şŝŨ ŧŚ 

ũťŚŧ. 

 

5. ĺŝŪŨũŪŨŦŵŲťşŧŧŨş ũŪŨŢšŜŨŞūŬŜŨ. 

ňŞŢŧ Ţš ŧŚũŪŚŜťşŧŢţ ŢŧŬşŧūŢŮŢŤŚŰŢŢ ūşťŶūŤŨůŨšŹţūŬŜşŧŧŨŝŨ ũŪŨŢšŜŨŞūŬŜŚ 

ŹŜťŹşŬūŹ ūŨšŞŚŧŢş ŚŝŪŨũŪŨŦŵŲťşŧŧŵů ŨśŴşŞŢŧşŧŢţ Ţ ũŪşŞũŪŢŹŬŢţ ũŨ 

ũşŪşŪŚśŨŬŤş ūşťŶūŤŨůŨšŹţūŬŜşŧŧŨţ ũŪŨŞŭŤŰŢŢ. ňŧŢ ũŨŬŪşśťŹŸŬ ŜŨŞŭ Ŝ 

ŬşůŧŢűşūŤŢů ŰşťŹů, ŞťŹ ŦŨţŤŢ ūŵŪŶŹ, ũŪŨŢšŜŨŞūŬŜŚ ũŚŪŚ Ţ ŞŪŭŝŢů ŧŭŠŞ. 

ňśŴŻŦ ŜŨŞŨũŨŬŪşśťşŧŢŹ ũŪşŞũŪŢŹŬŢŹŦŢ ūşťŶūŤŨůŨšŹţūŬŜşŧŧŨţ 

ũŪŨŦŵŲťşŧŧŨūŬŢ ŨũŪşŞşťŹşŬūŹ Ŝ šŚŜŢūŢŦŨūŬŢ ŨŬ ŨśŴŻŦŚ Ţ ŜŢŞŚ ŜŵũŭūŤŚşŦŨţ 

ũŪŨŞŭŤŰŢŢ, ůŚŪŚŤŬşŪŚ ŢūũŨťŶšŨŜŚŧŢŹ ŜŨŞŵ, ũŪŢŧŹŬŨţ ŬşůŧŨťŨŝŢŢ 

ũŪŨŢšŜŨŞūŬŜŚ Ţ ūŢūŬşŦŵ ũŪŨŦŵŲťşŧŧŨŝŨ ŜŨŞŨūŧŚśŠşŧŢŹ.  

 

5.1. ŋşťŶūŤŨůŨšŹţūŬŜşŧŧŨş ũŪŨŢšŜŨŞūŬŜŨ. 

ŉŨ ŨśŴşŦŭ ũŨŬŪşśťşŧŢŹ ŜŨŞŵ ūşťŶūŤŨş ůŨšŹţūŬŜŨ šŧŚűŢŬşťŶŧŨ ũŪşŜŨūůŨŞŢŬ 

Ŝūş ŞŪŭŝŢş ŨŬŪŚūťŢ. łūũŨťŶšŨŜŚŧŢş ŜŨŞŵ ŪŚūũŪşŞşťŹşŬūŹ ūťşŞŭŸųŢŦ ŨśŪŚšŨŦ 

(%): 75- ŨŪŨŲşŧŢş, ŭŜťŚŠŧşŧŢş Ţ ŨśŜŨŞŧşŧŢş; 18- ũŪŨŢšŜŨŞūŬŜşŧŧŵş ŧŭŠŞŵ, 

ŠŢŜŨŬŧŨŜŨŞūŬŜŨ; 

7- ūşťŶūŤŨůŨšŹţūŬŜşŧŧŨş ŜŨŞŨūŧŚśŠşŧŢş Ţ ůŨšŹţūŬŜşŧŧŨ-ũŢŬŶşŜŵş ŧŭŠŞŵ. 

ĻŨťŶŲŢŦ ũŨŬŪşśŢŬşťşŦ ŜŨŞŵ Ŝ ūşťŶūŤŨůŨšŹţūŬŜşŧŧŨŦ ũŪŨŢšŜŨŞūŬŜş ŹŜťŹşŬūŹ 

ŠŢŜŨŬŧŨŜŨŞűşūŤŢţ ŤŨŦũťşŤū ƥ ŤŪŭũŧŨş ūũşŰŢŚťŢšŢŪŨŜŚŧŧŨş ũŪşŞũŪŢŹŬŢş ũŨ 

ũŪŨŢšŜŨŞūŬŜŭ ũŪŨŞŭŤŰŢŢ ŧŚ śŚšş ŢŧŞŭūŬŪŢŚťŶŧŨţ ŬşůŧŨťŨŝŢŢ. ļŨŞŚ šŞşūŶ 

ũŨŬŪşśťŹşŬūŹ ŧŚ ŮŢšŢŨťŨŝŢűşūŤŢş (ŧŚũŪŢŦşŪ, ũŨşŧŢş ŠŢŜŨŬŧŵů Ţ ũŬŢŰ), 

ŬşůŧŨťŨŝŢűşūŤŢş Ţ ŜūũŨŦŨŝŚŬşťŶŧŵş ŧŭŠŞŵ, ŤŨŬŨŪŵş ŜŤťŸűŚŸŬ ŤŨŪŦŨŰşůŢ, 

ŨśŴşŤŬŵ ŜşŬşŪŢŧŚŪŧŨ-ūŚŧŢŬŚŪŧŨŝŨ ŨśūťŭŠŢŜŚŧŢŹ Ţ ŠŢŜŨŬŧŵů Ţ 

ŚŞŦŢŧŢūŬŪŚŬŢŜŧŨ śŵŬŨŜŵů šŞŚŧŢţ. ļ ŧŨŪŦŚů ŭűŢŬŵŜŚŸŬ ŪŚūůŨŞ ŜŨŞŵ 

ŨŬŞşťŶŧŨ ŧŚ ŤŚŠŞŵţ ŜŢŞ ũŨŬŪşśťşŧŢŹ, ũŪŢűşŦ ŢūũŨťŶšŭŸŬ ŭūŪşŞŧşŧŧŵş 

ũŨŤŚšŚŬşťŢ ũŨ ŤŚŠŞŨţ ŝŪŭũũş ŠŢŜŨŬŧŵů ū ŭűşŬŨŦ ŦŨųŧŨūŬŢ ŤŨŦũťşŤūŨŜ, 

ŬşůŧŨťŨŝŢŢ ūŨŞşŪŠŚŧŢŹ ŠŢŜŨŬŧŵů Ţ ūũŨūŨśŨŜ ŭśŨŪŤŢ ŧŚŜŨšŚ. ŉŨūťşŞŧŢţ 

ŮŚŤŬŨŪ ŨŤŚšŵŜŚşŬ ŧŚŢśŨťŶŲşş ŜťŢŹŧŢş ŧŚ ŨśŴşŦ ŜŨŞŨũŨŬŪşśťşŧŢŹ. ļ 
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šŚŜŢūŢŦŨūŬŢ ŨŬ ūũŨūŨśŚ ŭśŨŪŤŢ ŧŚŜŨšŚ (ŦşůŚŧŢűşūŤŨŝŨ ŢťŢ ŝŢŞŪŚŜťŢűşūŤŨŝŨ) 

ŧŨŪŦŚ ũŨŬŪşśťşŧŢŹ ŦŨŠşŬ ŭŜşťŢűŢŜŚŬŶūŹ Ŝ 3ư4 ŪŚšŚ. 

           ľťŹ ŪŚūűşŬŚ ŜŨŞŨũŨŬŪşśťşŧŢŹ ŧşŨśůŨŞŢŦŨ šŧŚŬŶ ŧŨŪŦŭ 

ŜŨŞŨũŨŬŪşśťşŧŢŹ, Ŭ. ş. ŤŨťŢűşūŬŜŨ ŜŨŞŵ, ŜŵŪŚŠşŧŧŨş Ŝ ťŢŬŪŚů, ŤŨŬŨŪŨş 

ŪŚūůŨŞŭşŬ ũŨŬŪşśŢŬşťŶ šŚ ūŭŬŤŢ, ūŨŝťŚūŧŨ ŋŇŢŉ II-30-76 (ũŪŢť. 3). 

            ľŚťŶŧşţŲŢş ŪŚūűşŬŵ ūŜŨŞŹŬūŹ Ŝ ŬŚśť.4, ũŪŢ ŷŬŨŦ ũŨŬŪşśťşŧŢş ŜŨŞŵ 

ŠŢťŵŦŢ, ŤŨŦŦŭŧŚťŶŧŵŦŢ Ţ ũŪŨŢšŜŨŞūŬŜşŧŧŵŦŢ ŨśŴşŤŬŚŦŢ ŧşŪŚŜŧŨŦşŪŧŨ ŜŨ 

ŜŪşŦşŧŢ Ţ ůŚŪŚŤŬşŪŢšŭşŬūŹ ūŭŬŨűŧŵŦŢ Ţ űŚūŨŜŵŦŢ ŤŨŷŮŮŢŰŢşŧŬŚŦŢ 

ŧşŪŚŜŧŨŦşŪŧŨūŬŢ ńūŭŬ. Ţ ńűŚū. 

             ńŨŷŮŮŢŰŢşŧŬ ūŭŬŨűŧŨţ ŧşŪŚŜŧŨŦşŪŧŨūŬŢ ńūŭŬ. ũŪŢŧŢŦŚŸŬ ūŨŝťŚūŧŨ 

ūťşŞŭŸųŢŦ ŪşŤŨŦşŧŞŚŰŢŹŦ: 

*ŞťŹ ŧŚūşťşŧŢŹ Ţ ŠŢťŢųŧŨ-ŤŨŦŦŭŧŚťŶŧŨŝŨ ūşŤŬŨŪŚ ńūŭŬ. = 1,2; 

*ŞťŹ ŠŢŜŨŬŧŨŜŨŞűşūŤŨŝŨ ūşŤŬŨŪŚ ū ŚŜŬŨũŨşŧŢşŦ ńūŭŬ. = 1,35, śşš ŚŜŬŨũŨşŧŢŹ 

ńūŭŬ. =1,5; 

*ŞťŹ ũŪŨŢšŜŨŞūŬŜşŧŧŨŝŨ ūşŤŬŨŪŚ ńūŭŬ  = 1,4. 

        ŋŪşŞŧşş ŤŨťŢűşūŬŜŨ űŚūŨŜ ŜŨŞŨũŨŬŪşśťşŧŢŹ Ŝ ūŭŬŤŢ ũŪŢŧŢŦŚşŬūŹ 

ŧşũŨūŪşŞūŬŜşŧŧŨ ũŪŨşŤŬŢŪŨŜųŢŤŨŦ ŢūůŨŞŹ Ţš ūťşŞŭŸųŢů ŪşŤŨŦşŧŞŚŰŢţ: 

*ŧŚūşťşŧŢş, śŨťŶŧŢŰŵ ƥ 24 ű; ŲŤŨťŵ, ŹūťŢ, śŚŧŢ ƥ 10-16 ű; 

* ŠŢŜŨŬŧŨŜŨŞűşūŤŢţ ūşŤŬŨŪ ū ŚŜŬŨũŨşŧŢşŦ ƥ 24 ű, śşš ŚŜŬŨũŨşŧŢŹ ƥ 10-12 ű; 

*ũŪŨŢšŜŨŞūŬŜşŧŧŵţ ūşŤŬŨŪ ƥ 16-24 ű, ŭűŢŬŵŜŚŹ ŨŞŧŨ ŞŜŭů ŢťŢ ŬŪŻůūŦşŧŧŭŸ 

ŪŚśŨŬŭ. 

       ńŨŷŮŮŢŰŢşŧŬ űŚūŨŜŨţ ŧşŪŚŜŧŨŦşŪŧŨūŬŢ ńűŚū. ũŪŢŧŢŦŚŸŬ Ŝ ūťşŞŭŸųŢů 

ũŪşŞşťŚů: 

*ŠŢťŢųŧŨ-ŤŨŦŦŭŧŚťŶŧŵţ Ţ ũŪŨŢšŜŨŞūŬŜşŧŧŵţ ūşŤŬŨŪ ńűŚū. = 1,5; 

*ŠŢŜŨŬŧŨŜŨŞűşūŤŢţ ūşŤŬŨŪ ū ŚŜŬŨũŨşŧŢşŦ ńűŚū. = 2,2, śşš ŚŜŬŨũŨşŧŢŹ ńűŚū. = 

2,5. 

       ļ ŬŚśť.4 ũŪŢŜşŞşŧ ũŪŢŦşŪ ŪŚūűşŬŚ ŨũŪşŞşťşŧŢŹ ūşŤŭŧŞŧŨŝŨ ŪŚūůŨŞŚ ŜŨŞŵ. 

ŁŞşūŶ ŧşŨśůŨŞŢŦŨ ŨũŪşŞşťŢŬŶ ūŭŦŦŭ ũŨ ŤŨťŨŧŤŚŦ 4 Ţ 11. 
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ŌŚśťŢŰŚ 4. ƥ ŊŚūűŻŬ ŜŨŞŨũŨŬŪşśťşŧŢŹ ŧŚūşťşŧŧŨŝŨ ũŭŧŤŬŚ (ŜŨŞŚ ŬşůŧŢűşūŤŚŹ). 
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ŇŚūşťşŧŢş            

ńŨŪŨŜŵ 

ŞŨţŧŵş 

          

ŅŨŲŚŞŢ           

ŌŪŚŤŬŨŪŵ           

ŋŭŦŦŚ, ǉ   ǉ19802

0 

      ǉ5,38 

łūůŨŞŧŵş ŞŚŧŧŵş ŞťŹ ŪŚūűşŬŨŜ ŜŵŞŚŸŬūŹ ŪŭŤŨŜŨŞŢŬşťşŦ ũŨ ŜŚŪŢŚŧŬŭ. 

ŋŭŬŨűŧŵţ ŪŚūůŨŞ ŜŨŞŵ ūŨūŬŚŜťŹşŬ- V= 198020 ť/ūŭŬ. ŢťŢ 198 Ŧ
3
/ūŭŬ. 

ŊŚūűŻŬŧŵţ ŪŚūůŨŞ - QŪŚūű. = 5,38 ť/ū. ŤŨŬŨŪŵţ ūŭŦŦŢŪŭŸŬ ū ŪŚūűŻŬŧŵŦ 

ŪŚūůŨŞŨŦ ŧŚ ŨŪŨŲşŧŢş. 

 

5.2. ŉŨťŢŜŧŨţ ŪşŠŢŦ ūşťŶūŤŨůŨšŹţūŬŜşŧŧŵů ŤŭťŶŬŭŪ 

          ŊşŠŢŦ ŨŪŨŲşŧŢŹ ŞŨťŠşŧ śŵŬŶ ũŪŢŧŹŬ ŨũŪşŞşťŻŧŧŨţ ŨśşūũşűşŧŧŨūŬŢ 

ŞťŹ ũŨťŭűşŧŢŹ ũťŚŧŢŪŭşŦŨŝŨ (ŦŚŤūŢŦŚťŶŧŨ ŜŨšŦŨŠŧŨŝŨ) ŭŪŨŠŚŹ 

ūşťŶūŤŨůŨšŹţūŬŜşŧŧŵů ŤŭťŶŬŭŪ. 

    

5.2.1 ļŵśŨŪ ŪŚūűŻŬŧŨŝŨ ŝŨŞŚ 

          ŉŪŢ ũŪŨşŤŬŢŪŨŜŚŧŢŢ ŪŚūűŻŬŧŵţ ŝŨŞ ŞťŹ šŨŧŵ ŧşŭūŬŨţűŢŜŨŝŨ 

ŭŜťŚŠŧşŧŢŹ ŨśŵűŧŨ ũŪŢŧŢŦŚŸŬ ūŪşŞŧşšŚūŭŲťŢŜŵţ 70 ƥ 80 % -ţ 

ŨśşūũşűşŧŧŨūŬŢ, ŤŨŬŨŪŵţ ŜŵśŢŪŚşŬūŹ ũŨ ūťŨŠŢŜŲŢŦūŹ ŦşŬşŨŪŨťŨŝŢűşūŤŢŦ 

ŭūťŨŜŢŹŦ ŞŚŧŧŵŦ: ŨūŚŞŤŚŦ, Ƣ; ūŪşŞŧşūŭŬŨűŧŨţ ŬşŦũşŪŚŬŭŪş ,t
o
ŋ;  

ŨŬŧŨūŢŬşťŶŧŨţ ŜťŚŠŧŨūŬŢ ŜŨšŞŭůŚ, f, %. 

    ŊŚūűŻŬŧŵţ ŝŨŞ ŦŨŠŧŨ ŜŵśŪŚŬŶ ũŨ ŦşūŬŭ Ŝ ŦşŬşŨŪŨťŨŝŢűşūŤŨŦ ŪŹŞŭ. ľťŹ 

ŷŬŨŝŨ ŦŧŨŝŨťşŬŧŢş ũŨŝŨŞŧŵş ŞŚŧŧŵş šŚ ŜşŝşŬŚŰŢŨŧŧŵţ ũşŪŢŨŞ ŪŚūũŨťŚŝŚŸŬ Ŝ 

ŨũŪşŞşťŻŧŧŨŦ ũŨŪŹŞŤş: ŨūŚŞŤŢ Ţ ŨŬŧŨūŢŬşťŶŧŭŸ ŜťŚŠŧŨūŬŶ ŜŨšŞŭůŚ Ŝ ŜŨšŪŚū-

ŬŚŸųşŦ, Ś ŬşŦũşŪŚŬŭŪŭ ŜŨšŞŭůŚ ƥ Ŝ ŭśŵŜŚŸųşŦ (ŬŚśť. 5). 

    ŇşŨśůŨŞŢŦŨ, űŬŨśŵ ŤŨťŢűşūŬŜŨ ťşŬ ŧŚśťŸŞşŧŢţ śŵťŨ ŧş Ŧşŧşş 9. ĿūťŢ, ŧŚ-

ũŪŢŦşŪ, ŢŦşşŬūŹ 12 ťşŬ ŧŚśťŸŞşŧŢţ, šŧŚűŢŬ: 

ŏ = 
  

                                                                                                           (14) 

           ŝŞş n - ŤŨťŢűşūŬŜŨ ťşŬ ŧŚśťŸŞşŧŢţ 

ŉŪŢŦşŪ ŪŚūűŻŬŚ: 

ů = 12×75/100 = 9 ťşŬ, 
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Ŭ. ş. ŬŪŢ ūŚŦŵů ūŭůŢů ŧşśťŚŝŨũŪŢŹŬŧŵů ŝŨŞŚ ŢūŤťŸűŚŸŬ, Ś űşŬŜŻŪŬŵţ ũŨ šŚ-

ūŭŲťŢŜŨūŬŢ śşŪŭŬ šŚ ŪŚūűŻŬŧŵţ. 

 

 ŌŚśťŢŰŚ 5. - ŉŨŝŨŞŧŵş ŭūťŨŜŢŹ ŜşŝşŬŚŰŢŨŧŧŨŝŨ ũşŪŢŨŞŚ 

 

 

ĽŨŞ 

 

ĺũŪşťŶ 

(ŮŚŤŬŢűşūŤŢţ) 

 

ĺũŪşťŶ 

(ŪŚūűşŬŧŵţ) 

t
o
ŋ f, % Ƣ, ŦŦ t

o
ŋ f, % Ƣ, ŦŦ 

1995 -2,9 72 7 8,0 62 7 

1996 1,4 65 24 6,3 63 12 

1997 6,2 68 23 6,2 65 18 

1998 8,0 62 12 4,0 66 19 

1999 3,4 70 29 3,4 67 19 

2000 1,0 75 30 3,3 68 23 

2001 4,0 80 25 3,1 69 24 

2002 6,3 66 19 2,9 70 24 

2003 2,9 63 24 1,8 72 25 

2004 1,8 69 32 1,4 72 29 

2005 3,3 67 19 1,0 75 30 

2006 3,1 72 18 -2,9 80 32 

ŊŚūűŻŬŧŵţ ŝŨŞ ŞťŹ ŚũŪşťŹ śŭŞşŬ ũŪŢ 

t= 4,0
Ũ
ŋ ;  f= 66% ;  Ƣ = 19 ŦŦ 

    ŌŚŤ ŜŵśŢŪŚŸŬ ŞŚŧŧŵş ũŨ ŜūşŦ ŦşūŹŰŚŦ ŜşŝşŬŚŰŢŨŧŧŨŝŨ ũşŪŢŨŞŚ Ţ šŚũŢūŵ-

ŜŚŸŬ Ŝ ŬŚśť. 6. 

ŌŚśťŢŰŚ 6. - ŋŜŨŞŧŚŹ ŜşŞŨŦŨūŬŶ ŪŚūűŻŬŧŨŝŨ ŝŨŞŚ 

 

ĺũŪşťŶ ņŚţ łŸŧŶ łŸťŶ ĺŜŝŭūŬ 

t
o
 f Ƣ t

o
 f Ƣ t

o
 f Ƣ t

o
 f Ƣ t

o
 f Ƣ 

4 66 19             

 

5.2.2 ňũŪşŞşťşŧŢş ŢūũŚŪşŧŢŹ ū ŜŨŞŧŨţ ũŨŜşŪůŧŨūŬŢ 

           łūũŚŪşŧŢş ū ŜŨŞŧŨţ ũŨŜşŪůŧŨūŬŢ ŨũŪşŞşťŹŸŬ ũŨ ŮŨŪŦŭťş ľŚŜŵŞŨŜŚ: 

Ŀ0= 0,413 (Ŀ ƥ ş)
0,8

 × (1 + 0,125 ŋūŪ), ŦŦ/ūŭŬ,                                                    (15) 

ŝŞş  Ŀ0 ƥ ŦŚŤūŢŦŚťŶŧŚŹ ŭũŪŭŝŨūŬŶ ŜŨŞŹŧŵů ũŚŪŨŜ, šŚŜŢūŹųŚŹ ŨŬ ŬşŦũşŪŚŬŭŪŵ 

ŜŨšŞŭůŚ,Ŧś. ĿŻ ŨũŪşŞşťŹŸŬ ũŨ ũūŢůŪŨŦşŬŪŢűşūŤŢŦ ŬŚśťŢŰŚŦ (ũŪŢť. 4);  

ş - ŚśūŨťŸŬŧŚŹ šŚŦşŪşŧŧŚŹ ŜťŚŠŧŨūŬŶ ŜŨšŞŭůŚ, ŨũŪşŞşťŹşŦŚŹ ũŨ ŮŨŪŦŭťş: 

ş = 
  

;                                                                                                                  (16)   

ŋūŪ ƥ ūŪşŞŧŹŹ ūŤŨŪŨūŬŶ ŜşŬŪŚ, (ŭŤŚšŚŧŚ Ŝ šŚŞŚŧŢŢ, ŧŚũŪŢŦşŪ: ŋ ūŪ = 5 Ŧ/ū). 
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ļşūŶ ŪŚūűŻŬ ūŜŨŞŹŬ Ŝ ŬŚśť. 7. ŌşŦũşŪŚŬŭŪŚ Ţ ŨŬŧŨūŢŬşťŶŧŚŹ ŜťŚŠŧŨūŬŶ ŜŨš-

ŞŭůŚ ŭŤŚšŚŧŵ Ŝ ŬŚśť. 7.  

ŌŚśťŢŰŚ 7. -  łūũŚŪşŧŢş ū ŜŨŞŧŨţ ũŨŜşŪůŧŨūŬŢ  

 

łūũŚŪşŧŢş šŚ ťşŬŧŢţ ũşŪŢŨŞ ūŨūŬŚŜťŹşŬ 569,3 ŦŦ, ŢťŢ ~ 0,57 Ŧ. 

5.2.3 ŊŚūűŻŬ ŞşŮŢŰŢŬŚ ūŭŬŨűŧŨŝŨ ŭŜťŚŠŧşŧŢŹ 

          ľşŮŢŰŢŬ ūŭŬŨűŧŨŝŨ ŭŜťŚŠŧşŧŢŹ ŞťŹ ŤŭťŶŬŭŪ ŪŚūūűŢŬŵŜŚŸŬ ũŨ 

ŮŨŪŦŭťş: 

ρπ•
˿

˟
, Ŧ

3
/ūŭŬ.                                                                            (17) 

ŝŞş ű ƥ ūŭŦŦŚŪŧŨş ŢūũŚŪşŧŢş (ŷŜŚũŨŬŪŚŧūũŢŪŚŰŢŹ); 

ű = 0,5 d ƥ ŞťŹ ũŪŨũŚŲŧŵů ŤŭťŶŬŭŪ; 

ű = 0,9 d ƥ ŞťŹ ŤŭťŶŬŭŪ ūũťŨŲŧŨŝŨ ūşŜŚ;  

d = Ŀ ƥ ş ƥ ŞşŮŢŰŢŬ ŜťŚŠŧŨūŬŢ ŜŨšŞŭůŚ (ŬŚśť. 7. ŝŪŚŮŚ 7). 

ľťŹ ũşŪşŜŨŞŚ Ŧś Ŝ ŦŦ ũŪŢŧŢŦŚŸŬ ŤŨŷŮŮŢŰŢşŧŬ ũşŪşŜŨŞŚ, ŪŚŜŧŵţ 0,75. 
ňŬūŸŞŚ:  10 ű = 3,75 d  Ţ 10 ű = 6,75 d. 

10 Ƣ (1 ƥ ů) - ũŪŢůŨŞ ŜŨŞŵ šŚ ūűŻŬ ŚŬŦŨūŮşŪŧŵů ŨūŚŞŤŨŜ. 

       Ō 

ŝŞş Ƣ ƥ ŨūŚŞŤŢ Ŝ ŦŦ Ţš ŪŚūűŻŬŧŨŝŨ ŝŨŞŚ (ŬŚśť.6); 

       Ō ƥ űŢūťŨ Şŧşţ Ŝ ŦşūŹŰş; 

       ů ƥ ŤŨŷŮŮŢŰŢşŧŬ ŧşũŪŨŞŭŤŬŢŜŧŨŝŨ ŪŚūůŨŞŚ ŜťŚŝŢ, ũŪŢŧŢŦŚşŦŵţ 0,2. 

 
˿

˟

˿ ȟ

˟

˿

˟
 

ŊŚūűŻŬŵ ŞşŮŢŰŢŬŚ ūŭŬŨűŧŨŝŨ ŭŜťŚŠŧşŧŢŹ ŤŭťŶŬŭŪ ūũťŨŲŧŨŝŨ ūşŜŚ Ţ 

ũŪŨũŚŲŧŵů ŤŭťŶŬŭŪ ūŜŨŞŹŬ Ŝ ŬŚśťŢŰŵ 8 Ţ 9.  
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ŌŚśťŢŰŚ 8. ľşŮŢŰŢŬ ūŭŬŨűŧŨŝŨ ŭŜťŚŠŧşŧŢŹ ũŪŨũŚŲŧŵů ŤŭťŶŬŭŪ 
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 łŬŚŤ, ūŭŦŦŚŪŧŵţ ŞşŮŢŰŢŬ ŭŜťŚŠŧşŧŢŹ ŜŵśŢŪŚşŬūŹ Ţš ŝŪŚŮŵ 10 šŚ ūşšŨŧ ŞťŹ 

ũŪŨũŚŲŧŵů ŤŭťŶŬŭŪ Ţ ūŬŪŨŢŬūŹ ŢŧŬşŝŪŚťŶŧŚŹ ŤŪŢŜŚŹ (ŪŢū. 5). 

 

ŌŚśťŢŰŚ 9.  ľşŮŢŰŢŬ ūŭŬŨűŧŨŝŨ ŭŜťŚŠŧşŧŢŹ ŤŭťŶŬŭŪ ūũťŨŲŧŨŝŨ ūşŜŚ. 
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ŋŭŦŦŚŪŧŵţ ŞşŮŢŰŢŬ ŭŜťŚŠŧşŧŢŹ ŜŵśŢŪŚşŬūŹ Ţš ŝŪŚŮŵ 10 šŚ ūşšŨŧ ŞťŹ 

ŤŭťŶŬŭŪ ūũťŨŲŧŨŝŨ ūşŜŚ Ţ ūŬŪŨŢŬūŹ ŢŧŬşŝŪŚťŶŧŚŹ ŤŪŢŜŚŹ (ŪŢū. 5)

 
 ŊŢū 5.  ńŪŢŜŚŹ ŞşŮŢŰŢŬŚ ūŭŬŨűŧŨŝŨ ŭŜťŚŠŧşŧŢŹ. 

 

5.2.4 ňũŪşŞşťşŧŢş ũŨťŢŜŧŵů Ţ ŨŪŨūŢŬşťŶŧŵů ŧŨŪŦ. 

ŉŨťŢŜŧŚŹ ŧŨŪŦŚ ƥ ŷŬŨ ŤŨťŢűşūŬŜŨ ŜŨŞŵ, ũŨŞŚŜŚşŦŨş šŚ ŨŞŢŧ ũŨťŢŜ , 

Ŧ
3
/ŝŚ. 

ňŪŨūŢŬşťŶŧŚŹ ŧŨŪŦŚ ƥ ŷŬŨ ŤŨťŢűşūŬŜŨ ŜŨŞŵ, ũŨŞŚŜŚşŦŨş šŚ ũŨťŢŜŧŨţ 

ūşšŨŧ, Ŧ
3
/ŝŚ. 

ŉŪŢ ŨũŪşŞşťşŧŢŢ ũŨťŢŜŧŵů ŧŨŪŦ ŢūůŨŞŹŬ ŨśŵűŧŨ Ţš ŧŚŢŦşŧŶŲşţ 

ŜťŚŝŨŻŦŤŨūŬŢ (Ňļ). ŉŪŢ ũŨťŢŜş ŜťŚŠŧŨūŬŶ ũŨűŜŵ ŞŨťŠŧŚ śŵŬŶ ŞŨŜşŞşŧŚ ŞŨ 

ŧŚŢŦşŧŶŲşţ ŜťŚŝŨŻŦŤŨūŬŢ ŪŚūűŻŬŧŨŝŨ ūťŨŹ ũŨűŜŵ. ŇŚŢŦşŧŶŲŚŹ ŜťŚŝŨŻŦŤŨūŬŶ 

(Ňļ) ũŨŤŚšŵŜŚşŬ, ŤŚŤŨş ŤŨťŢűşūŬŜŨ ŜťŚŝŢ ũŨűŜŚ ŦŨŠşŬ ŭŞşŪŠŚŬŶ Ŝ 

ŪŚŜŧŨŜşūŧŨŦ ūŨūŬŨŹŧŢŢ. ŇŢŠŧŢŦ ũŪşŞşťŨŦ ŭŜťŚŠŧşŧŢŹ ŹŜťŹşŬūŹ 

ŦŢŧŢŦŚťŶŧŚŹ ŜťŚŠŧŨūŬŶ.  

ņŢŧŢŦŚťŶŧŚŹ ŜťŚŠŧŨūŬŶ ƥ ŷŬŨ ŜťŚŠŧŨūŬŶ, ũŪŢ ŤŨŬŨŪŨţ ŪŚūŬşŧŢŹ ŧŚűŢŧŚŸŬ 

ūŧŢŠŚŬŶ ũŪŢŪŨūŬ ŪŚūŬŢŬşťŶŧŨţ ŦŚūūŵ, ūŨŨŬŜşŬūŬŜŭşŬ ŜťŚŠŧŨūŬŢ šŚŦşŞťşŧŢŹ 

ŪŨūŬŚ ļŁŊ ŢťŢ ŜťŚŠŧŨūŬŢ ŪŚšŪŵŜŚ ŤŚũŢťťŹŪŧŵů ūŜŹšşţ(ļŊń). 

ŁŧŚŹ ŜşŪůŧŢţ  WŧŜ Ţ ŧŢŠŧŢţ Wmin  ũŪşŞşťŵ ŭŜťŚŠŧşŧŢŹ, ŦŨŠŧŨ 

ŨũŪşŞşťŢŬŶ ŜşťŢűŢŧŭ ŜşŝşŬŚŰŢŨŧŧŨţ ŧŨŪŦŵ ũŨťŢŜŚ: 

m Ŝşŝ = WŧŜ ƥ Wmin.                                                                                                (18) 

ŉşŪşŞ ŜşūşŧŧŢŦ ŢťŢ ŨūşŧŧŢŦ ũŨťŢŜŨŦ Ŝ ũŨűŜş ŧŚůŨŞŢŬūŹ ŤŚŤŨţ-ŬŨ 

šŚũŚū ŜťŚŝŢ WŮ, ŭűŬŹ şŝŨ, ũŨťŭűŚşŦ šŧŚűşŧŢş ũŨťŢŜŧŨţ ŧŨŪŦŵ ũşŪşŞ 

ũŨūşŜŨŦ. 

mũŪ = WŧŜ ƥ WŮ.                                                                                                   (19) 

ļşťŢűŢŧŵ WŧŜ, Wmin, WŮ ŧŚůŨŞŹŬūŹ ũŨ ŮŨŪŦŭťş 

WŧŜ = 100 × h × Ŭ × rŧŜ, Ŧ
3
/ŝŚ,                                                                             (20) 




